BATERBRT/IPFEETAKR THM7F3A28(H)

¥t BT
N—+| BE K4 FRA Al A2 A3 A4 B B y—LEEBE| B
A 1 |&)N Bt =&ch-ofF 60 60 2 o 1.000 1
A 2 |=@H &R R R 24 06 64 1] 1 0.375 2
A 3 |3 ERKER HEHED- 14 06 64 1] 1 0.375 3
A 4 | &/ =24 46 46 of 2 0.400 4
N—+|FEF K% FR A B1 B2 B3 B | | y—LEEE | JEAL
B 1 |#E@E BRE RIE ARG -24 61 60 2] o 1
B 2 |EA IR HEHE24E 16 75 1 1 2
B 3 |&Zk B HEER-1E 06 57 of 2 3
N—r|FEF K% FR A C1 Cc2 c3 B | | y—LEEE | JEAL
c 1 |#BE & RIBEXTIE 62 75 2] o 1
C 2 | &9 BEHED - 14 26 06 of 2 3
c 3 |Bha {2 e 57 60 1] 1 2
N—+|FEF K& R4 D1 D2 D3 M| B | /¥ —LEGE [ B
D 1 |H{ BETER {ZEYEE /54 60 60 2l 0 1
D 2 |shfp £E BRI 06 60 1] 1 2
D 3 |#EH = BB AH2E 06 06 of 2 3
I\—h| BS K4 A E1 E2 E1 B B 4 —LERGEE | B
E 1 [ ES HEHE 26 60 61 2 0 1
E 2 |F%F EH HEER-14E 06 16 of 2 3
E 1 |BH BA REBXD- 14 16 61 1] 1 2
I\—h| BS K4 A F1 F2 F3 M| B ¥—LEEE | B
F 1 |BHK EXER RIGHES 61 60 2 o 1
F 2 |tkBE Rt HEHED- 15 16 61 1] 1 2
F 3 |iEgk R HEER-1E 06 16 of 2 3
I\—h| BS K4 A G1 G2 G3 B | ¥—LEWBE | JER
G 1 |5E 8 FEHR D 14 60 61 2 o 1
G 2 |HE Bt RIERS-E 06 76(4) 1 1 2
G 3 [WA EE3} BT -2 16 (4)67 of 2 3
IN—+| BE K4 F A H1 H2 H3 M| BR| ¥—LEGE | B
H 1 |k EF R RP24E 60 60 2l 0 1
H 2 |BF & HEWER 15 06 75 1| 1 2
H 3 |F h&E HASH-1E 06 57 of 2 3
IN—+| BE K4 A I 12 13 M| BR| ¥—LEGE | B
I 1 |98 BHF HEh- 24 60 61 2 o 1
I 2 |BEA &2 REHED - 14 06 (4)67 of 2 3
I 3 |¥FEl f— REBXD- 145 16 76(4) 1 1 2
IN—h | BES K4 R4 J1 J2 J3 B | y—LEWEBE|[ JEA
J 1 |hE FiEF RE5R/N 64 60 60 2 o 1
J 2 |gi@A EBE BHEAD 26 06 36 of 2 3
J 3 |= # HEHEP- 2% 06 63 1 1 2
IN—+| BE K4 A K1 K2 K3 B B 4y —LEREE | B
K 1 |8 BX ARH3E 63 60 2 0 1
K 2 |AE DE RIBA RS 265 36 60 1] 1 2
K 3 |BER & HEHEP 15 06 06 o 2 3
IN—+| BE K4 R4 L1 L2 L3 B B 4y —LEREE | B
L 1|8l B BREHES-25 60 60 2l 0 1
L 2 |FXK BEE HAEEHR-1E 06 46 of 2 3
L 3 |#HA &F B EAD- 14 06 64 1 1 2
IN—+| BE K4 A M1 M2 M3 M4 | BB ¥—LEGE | B
M 1 |FEl Kkt BRIE - 24F 60 60 2l 0 1.000 1
M 2 |BHHE KA HEHEP 15 06 06 of 2 0.000 4
M 3 | I3E HRh-34E 06 46 of 2 0.250 3
M 4 |H)Il BwE BRRRNSE 60 64 2 0 0.750 2




BATERBRT/IPFEETAKR

KEG;—F AN (B /—F1 L&A M/S—F2{i1)

A4

M2£L

B

o

K

L

A2{iL

M14iL

E)l_ath
ErEE ] e
EEREEE f;ga
EE 2] =
EREET | g%
[ ae] RE
[BEf EAH | IJ?;)%
ExEa__] %EJsll
[mis & | 364;
] o
[hE _Fx ] sha,zﬁl
EE ] e
T jfia
64

BN t#

61
EEES AN T

B
Il EH
(=5H-25F)

SH7E3A28(A)



FATEIFREF/NREET_IXKE SHM7E3RA28(R)
hELETF
N—k| B K& A Al A2 A3 A4 BB | ¥—LEGE | B
A 1 |PRER IEME g 24 26 62 1] 1 0.500 3
A 2 |ZEERIF BRGD BEHED- 24 62 64 2l 0 0.667 1
A 3 |hFt ETH HEHED 15 26 26 of 2 0.250 4
A 4 AW uHY BRI - 24 46 62 1 1 0.560 2
IN—k| BS K& e B1 B2 B3 BB | ¥—LEGE | B
B 1 |—E & TR/ 64F 60 60 2] 0 1
B 2 |IRE FEE HEWBD- 14 06 06 of 2 3
B 3 |ME E HEHED- 25 06 60 1 1 2
IN—h| BE K& e C1 c2 c3 B | Bx | ¥—LEEE | JEA
9] 1 | RABE D BE S35 60 62 2 o 1
c 2 |RiE BENDTE HEHES 14 06 26 of 2 3
o] 3 |F B HEME 24 26 62 1 1 2
N—k| BE K% FIRA D1 D2 D3 BB | ¥—LEGE | B
D 1 |/NE FiE FE3E /N 44 60 60 2 o 1
D 2 | KT &BE HEE 25 06 06 of 2 3
D 3 |[{EfH B HE R 24 06 60 1] 1 2
N—F| BE K4 R4 E1 E2 E1 E4 B 8| Y—LEEE| B
E 1 |*FH 4 REAAD- 14 60 60 2 o 1.000 1
E 2 | & HEE 25 06 46 of 2 0.250 3
E 1 |BK BEF HEE 25 06 36 of 2 0.200 4
E 4 |FR BEA EXWReh- 15 64 63 2| o 0.630 2
RER—F AR (& /S—F 1 I&A-E/S—F241)
AL R BEi
62
E24i 57 R -5
62
B |—= &= | —= B
64 TH
o] ERE D EMH (EBBXH-14)
61
D im #img | Eniz
64
A2{iL Bl sy TH
60
B |[FE /8 | TH




BATERET/NPRZETZAKRE THM743A28(A)

INEERF

IN—k| BS K4 FIRA Al A2 A3 A4 B | B[ #'—LEISE | JEAL
A 1 |EN =h =a/h 4% 60 60 2l o 1
A 2 k% & HiIlh 54 06 26 of 2 4
A 3 |E KR BAE NN 5E 06 61 1| 1 2
A 4 |RE #HBiD =45 62 16 1] 1 3

IN—h | BE K4 A B1 B2 B3 BB ¥—LBWBE| JE
B 1 |58 B FARN 34 61 63 2l o 1
B 2 |BE & HE/N 54 16 16 of 2 3
B 3 |FT £# RN 54 36 61 1 1 2

IN—h| BE K4 e C1 C2 C3 C4 B | y—LBWBE| JEH
C 1 |EIl £% =235 60 60 2| o 1.000 1
C 2 |WH FE BTN 45 06 06 of 2 0.000 4
C 3 |Zk & A /N 54 06 16 of 2 0.076 3
o] 4 |FEE BE WHS B4 60 61 2l o 0.923 2

B R—F A (K7 —R16L&A - C/N\—F241)

A EET-

62
Cofu [fEiZ BRE SILE]
60 1
Aot (& mB | Tz 60 = A
e (=& -4%F)
B hE &
76(3)

cifu |FHI _EF= EIES




FATERBT/NREET_AKRE

INEETF
N—k| BS K4 FIRA Al A2 A3
A 1 |ABRE miE ERHE -4 60 63
A 2 |A+E R ARINE 06 62
A 3 (%@ SFH EXHE -5 36 26
N—k| BES K4 R B1 B2 B3
B 1 |=# H%FixE ERREN5E 06 06
B 2 [ i0aE EREN 55 60 75
B 3 [MTA M FEEIN -4 60 57
N—k| BES K4 R C1 (o7 c3
C 1 [ B E5mEIN-45 60 60
C 2 |BHO EfL BB/ 54 06 46
C 3 |RE ATIF XM 54 06 64
AE,—F A~ (FsS—F14LD)
A AR BB 2R
64 HFE B
B nE | (E5EM-4E)
62
c |[a@m B | AL

HM7E3A28(R)
B | 8| 7 —LERIGE | JEAL
2| ©
1 1
of 2
B | M| 7 —LERIGE | JEAL
of 2
2| ©
1] 1
B | 8| 7 —LERIGE | JEA
2| ©
of 2
1] 1




